\Onap\f)r Z'Rw-'\@w/
T et g)=2xH2x +18 . ind a
Value ¢ betwyn | ond B

Suun Hat e ARODG forwe X=| 4o

XS s equaa-\-o e TRC oF gf)
0Kk X=C

ARoC = o) ol 215V vats)e]-{ald ﬂzu)w}

5| T
= S04 O 41§ ~2-12-18
g \
= Qu _
3= 2

IRDC ok X=( \S 3‘(0\

We Know fow lask chass
Alx)= 2(2)x+12 = fx+ 12

<o c5‘(c\=t\c+\2.
Now Solve Uerin=24

s



The Oedvahve of £ atr X, ,n
£'(x), s e Spe of dhe tungest

Ume 4o e Grapn of £ ot W Ponk
(x\)“:(h\) . 5'?

The dunaent Wee o KO OF pow
(X, )-P(g,\) Jo W Uw-b'\bm'\nﬂ '-\‘NmuS\n
(%, TWY) Wb Slope £y, Hws
W equasion 1S .
N= £ 0+ F 0N (X%




\Chaptr® “Dayl |
; Dot £ e a. funchon .

Lirwo )
e, T00 =L

Meang Hhat as X gets close b c,
“Hﬂnugk both values Smalle- and (4,30_,
Ythanc, buf hot equal b ¢, Fhen
M valwes of flx) get close b L.

Noke! Sometmes He kit does not
sk,






CEx: et £lx) = x24T find £13)
\ X+ . '

3+| --5-’:'_(”:7:[/

So hor fmchions that dont result
in divigion by Zuo, Htun

;e_:‘t fix) =fle)



Limit —PWH 4"05 :

@ QQ':Z (f(X)*'e(X) = X (’"* o 90

N/
@ Nre. (-C(x\—gfx\) = e 'p(x) “yre 3(")

L
© o o) gu1) = e 5 g1e)

@Mﬂx_)_;%p(x) .

¥2C —————
ga\ ;e:::/ g(x, VY. g(x)‘f"o



2 Conprie. 55 (Wmel) 5107))
¥ (4x‘+x+l))-(ﬁ";_(3x+‘l)>
= (41 2+ )(X247)

X! Suppose ‘)‘(e_‘,";("‘-ﬁ(x)=3 anA

_ \;(e-(:?u 9(!) = -7.

Detomin. 157(x-400 + 2)

V&”w . ‘

(& X) (50 ) e 90

,‘(‘.:',.“ (x+1)

ol

':../ ¢ 3 + —Z—- = 3..._'_]_




¥Carehd! You cavt always Subshpy,
Y value i Rrx

A lomit can fal o etist if-

() The. fonchin. appmoackes muthple
Valwes as y=¢. N

o

(b) #e &cﬁon ghws w%ou/': bond

]



' EZ‘}_-"-')?&W:*-P()C) eXists if and
only if both one -Sided Lamats



